SOLVE FOR X ANDY
1.) Solve fory:

ANSWER ANSWER ANSWER

2X +y = 4 -2X -3y = 4 X+ 2y = 4

y=-2x+4 y=(-2/3)x-4/3 y=(-1/2)x+2

2.) Solve for x:

X + 2y =7 6y -2x =3 Erleini=r0
k= oy +7 X =3yl x=(7/5)y + 7

ANSWER ANSWER ANSWER




'Solve the systems of equations by graphing AND
substitution.

i =-2X + 4 Za X —=2N =1

(3y=-x-6 3x)- oy =3
! | X=ady=|
\ R
{ 1o




Main Ideas/Questions

Notes

a method of solving systems of equations

WHAT 5 IT?  |in which you add or subtract the
equations to eliminate a variable.
Same Signs Step 1: Make sure equations are lined up!
Subtract Step 2: Add or Subtract. equations to eliminate the variable
P wéth common CO€fficients
Step 3: olve the equation for the remaining variable.
Dlﬂ‘elzg;[i SigHS Step 4: Plug-in your answer into either original equation

and Solve for the other variable.
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Solving Using Elimination
4~G4)

Ex. )y = 3x+ 4 Are the equations lined up?
5y = x-2 Poxe ave_matching coefficients?
Eliminate x or

._E)D-‘: & X_j__tg igiltgfr different?
—W=dX =X—3
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Solving Using Elimination

Ex. 2) ¥+ 4y = 13
(‘)//-v=3
l

Are the equations lined up?

Do x or y have matching coefficients?
Eliminate x or y?

Are the sigp eor different?
Add o




Solving Using Elimination

Are the equations lined up?

Do x or y have matching coefficients?
Eliminate x or y?

Are the signs the same or different?
Add or subtract?

x. 3) 3x - 10y = 14 Ex. 4)4x4j( 6
E_) 3><-9y=]5 ( ) 2X 2y—]8
:‘_‘-JE:L OX =—Id
=] W L

= ‘=

D 3x-9(=I5 *Eé'%a )
3x-9=15 y i
+9+9 =8




Solving Using Elimination

Are the equations lined up?

Do x or y have matching coefficients?
Are the signs the same or different?
Add or subtract?

G)}Q‘?;v “h ) o a6
oy =11 X = &
! LA=ST

\,: o= !
TEA)=5  -a@)+3 3.—_-.1»

BbX+9=§ - L
5 19 +t,0+31 +ttf
4X=-Y4 3y=13
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